L) 2 \'2y

Section I, Part A

Time: 55 minutes
MNumber of questions: 28

NO CALCULATOR MAY BE USED IN THIS PART OF THE EXAMINATION.

Directions: Solve each of the following problems. After examining the form
of the choices, decide which is the best of the choices given.

In this test: Unless otherwise specified, the domain of a function fis assumed
to be the set of all real numbers x for wh1ch f(x) is a real number. .
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3.  The function fdefined by f(x) = x* — x* has a relative minimum at
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The function h(x) is continuous and differentiable on the domain [0, 7]. The
graph of h'(x) is shown. Use the graph for Questions 9, 10, and 11.
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9, At what value of x does k(x) have its absolute minimum?
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10.  The point (5, 2) is on the graph of y = h(x). An equation of the line _
tangent to h(x) at (5, 2) is S\OY}Q a‘{ X*’" if}
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13, A particle moves along the x-axis so that its acceleration at any time ¢
B is a(t) = 2r — 3.1f the initial velocity of the particle is —4, at what
2x j time ¢ in the time interval 0 = ¢ =< 5 is the particle farthest left?
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14.  The graph of f'(x) is shown. It is tangent to the x
V = '-, Which of the following describes all relative extrema of f(x) on the \/’i% n
(H/ D] ; open interval (a4, b)? ‘
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’ "C - L‘ ) 't /M (A)  One relative maximum and one relative minimum
(B) One relative maximum and two relative minima
. (C)  Three relative maxima and two relative minima
\‘ B—Tworelative maxima and two relative minima

(E)  Two relative maxima and one relative minimum f\\D
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Let f be the function defined by f(x) = In(x + 4). Thl third-degree

Taylor polynomial for f centered about x = —3 is
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For what values of ¢ does the curve defined by the parametric equa-
tions x = giﬁ — t*and y = > + t* — 7t have a vertical tangent?

(A) Oonly (B) 0 and%

(C) only

(D) 1only (E) 0, ,andl
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19.  The graph of y = f(x) is shown. Let A and B be positive numbers that
represent the area of each shaded region. Evaluate
f;lf(x) dx + 3f_21 f(x) dx in terms of A and B.
+O,b

(B) 24 + B

(D) 3A + B (E) —3A — B
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The graph of fis shown. If A(x) = f f(¢) dt, for what value of x does
h(x) have its minimum? \

A) a (B) b
D) 4 (E) ¢

23.  In the right triangle shown, 8 is increasing at a constant rate of 2 radi- ’6&

ans per minute. In units per minute, at what rate is x increasing when
x = 129
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Which of the following equations has the slope field shown?
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Part A —~ No calculator Part B — Calculator allowed

Problem Answer Problem Answer
L., (D) 29. (B)
o (4) 30./ WO
3.4 (C) 31.! (E) -
4. (B) 32. (D)
Sx (A) 33, (B)
6., (E) 34, ()
7 (E) 35. (B)
84 (D) 36. (A)

“9.4 (B) 37. (D)
10.4 (A) 38, (D)
1 (B) - 39. 1 (A)
42, (A) 40. ()
134 (D) 41. (D)
14, (E) 0. (B)
15y Y 43. (E)
VY D) 44, (E)
i (E) 45. (D)
18.¢ (B)

19.¢ (A)

20. (B)

21 (E)

22.% (o)

234 (D)

24y (A)

25. (B)

26.4 (A)

2.
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